



Feb 13-9:56 AM

Rate of Change

- ① Slope = $m = \frac{f(x_2) - f(x_1)}{x_2 - x_1}$
- ② $m = \frac{f(b) - f(a)}{b - a}$
- ③ Diff Quotient = $\frac{f(x+h) - f(x)}{h}$

Feb 13-10:19 AM

#10) $f(x) = 5x + 5$ $m = 5$

D.Q. $\frac{f(x+h) - f(x)}{h}$

- ① $f(x) = 5x + 5$
- ② $f(x+h) = 5(x+h) + 5$

$$\frac{5(x+h) + 5 - (5x + 5)}{h}$$

$$\frac{5x + 5h + 5 - 5x - 5}{h}$$

$$\frac{5h}{h} = 5$$

Feb 13-10:28 AM

#11) $f(x) = x^2 + 7x - 4$

$$\frac{(x+h)^2 + 7(x+h) - 4 - (x^2 + 7x - 4)}{h}$$

$$\frac{x^2 + 2xh + h^2 + 7x + 7h - 4 - x^2 - 7x + 4}{h}$$

$$\frac{2xh + h^2 + 7h}{h}$$

$$\frac{h(2x + h + 7)}{h}$$

Feb 13-10:35 AM

$$f(x) = 2x$$

$$f(x+h) = 2(x+h)$$

$$f(5) = 2(5) = 10$$

$$f(a-c) = 2(a-c)$$

Feb 13-10:46 AM

$$g(x) = 2x^2 - 3x$$

$$\frac{2(x+h)^2 - 3(x+h) - (2x^2 - 3x)}{h}$$

Feb 13-10:48 AM